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Bk 4 1 121.2 120[ m3
FEARRE + 440.8 440| m3
e+ RC-40 266.5 270 m3
FEIR S+ 190.1 190| m3
e+ RC-40 t=43cm 190.1 190 m3
FEBBAR IR, 341.9 340| m3
PRI R B R GEE 1mEL_F4m oA 213.5 210] m3
BRI B /NS 29.0 30| m3
AL e 168.9 170 m2
WE BE T T X R ARLIPERE |2.0m#& 8% 3.5mEL T 32.0 32| m
3.5m& A Z5.0mEL T 2.0 2| m
L2 1.0 1 =
H3500B L=2000 16 16 K
H3750B L=2000 1 1] &
KiufiaidEay 7)) —h
= 7Y—b 18-8-25BB 7.1 7| m3
R RC40 19.5 20.0| m3
I 24.8 25.0] m2
Pk T SN —har s —h
i H 2 B R 300 X 300 39.5 40 m  [10m34Y 0.23m3/10m
a2y —h# B 1=0.5 36.0 36| #%
TV —F 7% FHEA 1=0.5 T-25 4.0 4|
WIS L | Bh2E R O t=15emBA T 8.4 8] m
L EEe AsEREERR t= 10cm 190.0 190| m2
AR S B L 45.9 46| m3
A S B L 14.8 15| m3




I & H H MOk & o ERREHEE i W=
H—RL—/Liik 24.3 24 m
KA +D5HE 15.0 15| 4%
AsFER B 19.0 19| m3
AsJEM L 43.7 44| ¢
A BEAL TR 45.9 46 m3
M CoFER JLER 107.9 108] ¢
H 1 BE T 14.8 15 m3
A 75 CoBE b ALER 37.0 371 ¢
H—RL—/L+ B/ |0.39+0.045 0.43 0.4 t
H—R L — LAy 0.39 0.4 ¢t
BT 754y 0.05 0.05| t
MO T
R IE (3 AR ) 253.3 253 m2
HH
TR T RC 40-0 t=39cm 317.4 317| m2
HEET M 40-0 t=12cm 328.2 328| m2
HKEL (Ff) BT FEAs20F t=5cm 328.2 328 m2
B
WP E RC 40-0 t=15cm 71.2 71 m2
AT RC 40-0 t=10cm 73.0 73] m2
FgT (Ff) #RTFEASLS t=3cm 106.5 107 m2
AR (3 AER)
R = e RC 40-0 t=15cm 8.2 8] m2
HEET M 40-0 t=15cm 8.4 8] m2
HEBEL () #RTFEASL3 t=4cm 8.7 9 m2
[E<CHE L AR
SHEER 70y [WiER A Y 45.0 45 m
[ AT T
TRV B LR 1 HeRg T H=1.1m BBl 35.5 36] m




T f# HOH o B B ERETEGE Wi fif =&
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SN ~NA AR R W=15em Hg-% | 126.0 130 m
~NAVRL R W=15cm B4 20.0 20 m
SMAL#R ~NA bR FER W=15em Bg-% | 654.0 650 m
~NAUL ERR W=15cm Bk 103.6 100f m
ENT S ES BV 15em#E -7 69.0 69] m
HIDEW 15cm#af B4k 11.0 11] m
fihr L5
AR
LA ERERR i |0.5mEL 1 1.0mEA F 3.0 3] m
1.0m%Z 44 2.2.0mLL 8.0 8] m
2.0mZH % 3.5mLL T 11.0 11] m
POBE [LAUERE 1750C 1=1.0m 1.0 1| &
LAUBEEE H1000C 1.=2.0m 1.0 1] &
LUERE H1250B L=2.0m 1.0 S
LR HERE H1500C 1L=2.0m 1.0 1| &
L ERE H1750C L.=2.0m 1.0 1| &
LR ERE H2000C 1.=2.0m 1.0 1| &
L ERE H2250B L=2.0m 1.0 S
LR ERE H2500B 1=2.0m 1.0 S
LR ERE H2750B L=2.0m 1.0 S
L HERE H3000B 1L=2.0m 1.0 1| &
LR ERE H3250B 1=2.0m 1.0 1| &
LR ERE H3500B L=1.0m 1.0 1| &
Kt tea /) —h|=7)—h 18-8-25BB 4.4 4.0 m3
St RC-40 12.5 13.0[ m3
— R e 15.2 15] m2
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B AR |18-8-40BB 23.4 23| m3
] JE [RC-40 t=15cm 89.9 90| m2
| J8 B A% IM-25 t=10cm 89.9 90| m2
FJE | (75) Mk E As13t=4cm 89.9 90| m2
HAVE B L MR & [fERs 1 H=1.1m S 29.2 29 m
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KA +DHFRE L |iiHEE IR 0% 10.0 10| 48
WHRL RC-40 7.98 8| m3
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EC.2

1489 60| 102| 53| 13| 53| 10| — — o~ o~ | |
BC.3

1548 65| 101| 53| 167 63| 06| 625 1015| 530| 1550 580| 0.80| 59| 369 59.9| 313 | 15| 342 47
NO.8

160.0| 65| 10.5| 53| 139 7.0 06| 650 10.30| 530| 1530 6.65| 0.60| 52| 33.8 | 53.6| 27.6| 79.6| 346 3.1
SP.3

1720 59| 69| 58| 106 37| 09| 620 870| 555| 1225 535| 0.75| 12.0| 744 1044 666 1470 642 9.0
NO.9

180.0| 24| 66| 32| 19| 42 07| 415 675 450| 925 3.95 0.80| 80| 33.2| 540 360| 740 316 64
NO.9+4.3

1843 24| 76| 32| 50| 54| 06| 240 710| 320| 645 4.80| 0.65| 43| 10.3| 30.5| 138 | 20.7| 206 2.8
EC.3

189.3| 25| 82| 27| 34| 59| 06| 245 790| 295| 420| 565| 0.60| 50| 12.3| 39.5| 148| 210| 283 3.0

P 404 | 200.9 | 341.9 | 190.1| 440.8 | 2135| 29.0
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B 1) 200.9 19.0 60.7 121.2
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BB A S NS fEHIE 463.1
HE IR+ 190.1
HE A L 440.8
BRI R 213.5
PP R AR 29.0 HR A 873.4
Tt E 873.4 463.1 0.90 456.6
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> BREL 2135
0.9 (#eLL1)
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0.9 (L)
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> (Hhily)
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% B b R FoAR « <Lk EEm) X R m) = mfEm2) i =
T LU ERE JLA A+ | H3 7508 A= 34 X 20 = 6.8

EAKREL.OmyE it
LU ERE JLA A+ | H3500B A= 3.2 X 33.0 = 105.6

SN
LU ERE JLA A+ | H3250B A= 3.0 X 20 = 6.0

BN
LAUBERE SER £ | H3000B A= 2.8 X 20 = 5.6

PPN
LAUBERE SERi £ | H27508 A= 26 X 20 = 5.2

PPN
LAUBERE SER £ | H25008 A= 2.4 X 20 = 4.8

PPN
LAUBERE SERi £ | H22508 A= 2.2 X 20 = 4.4

PPN
LA GRS FLpi 4+ | H2000C A= 2.2 X 20 = 4.4

PGNZSE
LA GRS FLpi 4+ [ H1750C A= 2.0 X 20 = 4.0

PN S
LA GRS FLp 4+ | H1500C A= 1.8 X 20 = 3.6

TN
LA GRS Fepi 4+ | H12508 A= 1.7 X 20 = 3.4

SN S
LA R FLAR 4+ | H1000C A= 1.6 X 2.0 = 3.2

SCPNT-S
LAY PERE JLRE A | HT750C A= 1.3 X 1.0 = 1.3

SN S
A PERE A= = 10.6 BB B BB ERE SR

& F 168.9 m2
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RC-40(t=20cm) |H3750B 6.8 m2
EF LY
H3500B 102.4 m2
&t 109.2 m2
H3750B 3.5mAEHBZ5.0mLL T L=( NO.7+9.0 ~ NO.7+11.0 )= 2.0 m
H3000B 2.0mZ Bz 3.5mLL T L=( NO.7+14.8 ~ NO.9+6.8 )= 32.0 m
&t 34.0 m
H37508 1.=2000 1 K
H35008 1.=2000 16 A&
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"o R BppRES | BPERRS | BRERPFHRS | BRRVPHRS o TR E A | PR (i
NO.7+7.5
147.5 0.18 0.37 — — —
NO.7+9.0
149.0 0.19 0.38 0.19 0.38 1.5 0.3 0.6
NO.7+11.0
151.0 0.21 0.40 0.20 0.39 2.0 0.4 0.8
No7+14.8
154.8 0.27 0.47 0.14 0.24 — — —
NO.8
160.0 0.28 0.48 0.28 0.48 5.2 1.5 2.5
SP.3
172.0 0.27 0.47 0.28 0.48 12.0 3.4 5.8
NO.9+6.5
186.5 0.17 0.37 0.22 0.42 14.5 3.2 6.1
186.5 0.27 0.47 — — — — —
NO.9+6.8
186.8 0.25 0.45 0.26 0.46 0.3 0.1 0.1
AN Ef 35.5 8.9 15.9

Kk a L 7)) —REHEXFHIMIE) 8.9/35.5=0.25

Co -y

0.200 m2

RugidEa L 7) —MNEHRSFEINESR) (0.25+0.15)%y 5-+2=0.447

AR (1 m&H720)

0.550 m2




RiggHgka 7V —hatEE

Ho R TR - L% ik

Kl ) — | 18-8-25BB A= 0.200%35.5 7.1 m3
SR A RC40 A= 0.550%35.5 = 19.5 m3
AU — R NS A= 8.9+15.9 24.8 m2
LA RS H3750B 3.5m% 25,05, T L=( NO.7+9.0 ~ NO.7+11.0 )= 2.0 m
H3000B 2 Om&AEA3.5m T L=(NO.7+14.8 ~ NO.9+6.8 )= 32.0 m

Al 34.0 m

Mk H3750B L.=2000 N

H3500B L=2000 16 A




Bk K & Y B EFEE

%4 AR AR - SHESE 1] &l
KB B X 0
A F VAL BT |41 300 X 300 L=(NO.7+6.8 ~ N0.9+6.3 ) 39.5  |m
A=} v= (0.12+0.29+0.30+1.20+0.72+0.23+0.12)%0.3 = 0.89 m3 10m3%4Y 0.89/39.5%10=0.23m3/10m
7Y —hH 2 |L500 n= 39.5 4 = 36 #
Jv—F 7 |1L500 n= 39.5 / 10.0 = 4 &
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FR7rAMEE | s | DETR HUgE L2 LD
t=10cm 4.3 + 41 8.4 m
A E
SR | TR
t=10cm 190.0 m2
AsiBEE M
190.0 X 0.10 19.0 m3
AsiRALEL
= 19.0 X 2.3 43.7 t
a7 —MEEY) R Co AR/ s
35.30 X 1.3 45.9 m3
ComBE ik AR5 Co
45.9 m3
ComlLER EfF Co
45.9 X 2.35 107.9 t
a7 —MEEY HHpCo Bk
7.8 X 1.9 14.8 m3
CoskiEdk HHCo
14.8 m3
CosilLER HHCo
14.8 X 25 37.0 t
H—RL—/L % i
3.5 + 208 24.3 m
T
24.3 X 0.016 0.39 t |16ke/m
sy
0.39 t
KEI+DH 2= i .
15 &
TE .
15 X 0.003 0.045 t |0.003t/4¥
sy

0.05
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EC.2

148.9 6.01
BC.3

154.8 6.48 6.25 5.9 36.9
NO.8

160.0 7.05 6.77 5.2 35.2
SP.3

172.0 6.73 6.89 12.0 82.7
NO.9

180.0 5.04 5.89 8.0 47.1
NO.9+4.3

184.3 5.31 5.18 4.3 22.3
EC.3

189.3 6.32 5.82 5.0 29.1

JNE 253.3

253.3
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NO.7+6.8
146.8 7.23 6.98
EC.2
148.9 7.40 7.15 7.32 7.07 2.1 15.4 14.8
BC.3
154.8 7.40 7.15 7.40 7.15 5.9 43.7 42.2
NO.8
160.0 7.57 7.32 7.49 7.24 5.2 38.9 37.6
SP.3
172.0 8.51 8.26 8.04 7.79 12.0 96.5 93.5
it 25.2 194.5 188.1
HEQ(EHRE2L)
SP.3
172.0 8.51 8.26 — — — — —
NO.9
180.0 8.24 7.99 8.38 8.13 8.0 67.0 65.0
N0.9+4.3
184.3 7.99 7.74 8.12 7.87 4.3 34.9 33.8
N0.9+6.7
186.7 7.99 7.74 8.12 7.87 2.4 19.5 18.9
NO.9+6.7
186.7 4.73 4.48 — — — — —
EC.3
189.3 4.73 4.48 4.73 4.48 2.6 12.3 11.6
i 13.0 133.7 129.3
Erat 328.2 317.4
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(A8 )& 4% m AE 5 & &
WA M T o Tk wersy e YRR e ansmae) mom T p g 1§
HEO
BC.2(NO.6+8.2)
128.2 2.17 —
SP.2(NO.6+18.6)
138.6 2.17 2.170 11.6 25.2
NO.7+6.4
146.4 2.17 2.170 8.9 19.3
/NG 20.5 44.5 0.0 0.0
HEO
NO.7+6.4
146.4 2.17 2.09 2.04 — — — — — — —
No.7+10.3
150.3 2.17 2.09 2.04 2.170 2.090 2.040 4.1 8.9 8.6 8.4
NO.7+14.3
154.3 2.17 2.09 2.04 — — — — — — —
NO.8
160.0 2.17 2.09 2.04 2.170 2.090 2.040 5.5 11.9 11.5 11.2
SP.3
172.0 2.17 2.09 2.04 2.170 2.090 2.040 11.4 24.7 23.8 23.3
NO.8+19.0
179.0 2.17 2.09 2.04 2.170 2.090 2.040 7.6 16.5 15.9 15.5
HEG
NO.8+19.0
179.0 0.00 2.09 2.04 — — — — — — —
NO.9
180.0 0.00 2.09 2.04 2.090 2.040 1.0 0.0 2.1 2.0
NO.9+5.3
185.3 0.00 2.09 2.04 2.090 2.040 5.3 0.0 11.1 10.8
/NEE 34.9 62.0 73.0 71.2
#t 106.5 73.0 71.2
FEADR
NO.7+10.3
150.3 2.17 2.09 2.04 — — — — — — —
NO.7+14.3
154.3 2.17 2.09 2.04 2.170 2.090 2.040 4.0 8.7 8.4 8.2




Pz = = S
B = it e
& FR b FE AR - ~HES 7 1 =Y & firg =z
fxA L SEgER ey | WER A T L= 45.0 |m
B M 1T HRBHIEA M S8l H=1l.1m NO.7+7.5~NO.7+11.0, NO.7+14.8~NO.9+6.8 35.5 |m
AR N0.6+12.0~SP.3(NO.8+12.0)
XE R E T | Py ERIEH W15cm |L= 20.0 |m ek
s - 2 126.0 |m
Ak NO.7+8.9~NO.9+15.8 NO.6+12.0~NO.8+12.0
AR ERESTH W15cm |L= 46.9 56.7 103.6 |m ek
-5 654.0 |'m
REfEE T |HvEv= W15cm |L= 11.0 |m
- 97 69.0 'm
+¥T K+ 0HFRE L | MHEME R 09| ¢ 110X HIL10 10 |4
TR T
HEL RC-40 7.98 |m3
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0%y BRI - EAR gatuE (G| 0/Q
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XERIOEENERHDEE
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e AR R - AR gt | D0 «
(m) (m) 2TOBRA |- FOH |[HEBOH
1[Rarorzt mzzt EmH% =46 15om #ARBM|  103.6] 3,000( 0.03453| 1263 - 654 104
3|RqUht st EFIE B 15em EAXA 200 2500 0008 1263 - 126 20
77| RE#RES HIVERYX 15cmitE 11 300| 0.03667| 12.63 - 69 11
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B A D OME BE T M B R A OB

Bno A JEAR - a5
T g 0.5mPL 1.0mPL T
1.0m%& 8% 2.0mEL
2.0mZH % 3.5mLA T
att .
KA} H750C L=1000 &
H1000C L=2000 &
H1250B L=2000 x
H1500C L.=2000 x
H1750C L.=2000 x
H2000C L.=2000 x
H2250B L=2000 &
H2500B L=2000 &
H2750B L=2000 &
H3000B L=2000 £




H3250B .=2000 1 K
H3500B .=1000 1 K
Kimaagar 7J—hk
27—k 18-8-25BB V= 0.199%22.0 = 4.4 m3
Py RC-40 V= 0.569%22.0 = 12.5 m3
A R S A= (0.248+0.445)%22.0= 15.2 m2
AT - JEBHIX 2 PR
VARV H3500 18-8-40BB |@© V= 2.1%3.5%1/2%(1.32+0.52)= 6.8 m3
AT EIfT - B IX 2 PR
@) V= (1.32+2.22+0.46+2.22+0.52)%0.46%3.5 =  10.9 m3
BT EIGT - B X 2 PR
® V= 2.22%2.22%3.5%1/3 = 5.7 m3
&t 23.4 m3
ST BB g RC-40 A= 3.54%(4.0421.4) = 89.9 m2
M T BT EREATM25 A= 3.54%(4.0421.4) = 89.9 m2
FE T PRI 7 A2 207 A= 3.54%(4.0+21.4) = 89.9 m2
R 1T
HAPE A 1E At Wb+ EBAH=1.1m L= 22.0+3.2+4.0 = 29.2 m
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